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Section-B: Hindi / 8t 20 20

Section-C: Social Science / GTHTSI® fas = 30 30
PART - 1l

Section-D: Mathematics / Tfora@ 50 50

Section-E: Science / s 50 50

Instructions:

All questions are compulsory and objective type with Multiple Choice Answers.

There is no negative marking.

In case of ambiguity on any question, the English version be taken as final.

Please use black/Blue ball point pen to completely darken the circles corresponding to the
correct answers.

The last blank pages of the question paper are meant for Rough Work.

The candidate must darken only one circle. If more than one circle is darkened, it will be
treated as a wrong answer.

Please return the answer sheet to the invigilator after the exam is over. The question booklet
can be carried along with by the candidates in the competition for the exam.
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PART - |

SECTION ‘A’ — ENGLISH

Direction: Choose the words that are nearest
in meaning to the bold & underlined word (s)

1. The country has a potential to exploit more
mineral resources.

a. fortune
C. capacity

b. hidden possibility
d. good luck

2. Seeing the room in a disorderly state, Ravi
concluded that someone had ransacked the
place.

b. viewed
d. visited

a. upset
c. destroyed

3. Grandfather has been getting feeble off late.

b weak
d. small

a. tall
c. diseased

4. A feeling of brotherhood should be nurtured
in the masses.

a. brought out
c. admired

b. brought up
d. encouraged

5. | tried to persuade him to change his mind,
but he remained adamant.

a. fixed
C. aggressive

b. stubborn
d. defensive

Directions (Qs. No. 6 to 10): In the following
questions, a sentence has been given in Diret/
Indirect speech. Out of the four alternatives
suggested, select the one which best expresses
the same sentence in Direct/Indirect speech.

6. He said, "Where are you going?"

a. He said that where | was going.
b. He asked where | was going.

c. He told that he was going.

d. He says that where | was going.

7. He said to him, "You may go."

. He told me to go.

. He told that he would go.

. | told him that he might go.
. He said to me to go.

o 0O T o

00

. Anjali says. "She is reading".

. Anjali said that she was reading.

. Anjali says that she is reading.

. Anjali says that she had been reading.
. Anjali says that she will be reading.

o 0 T o

. He said. "Suresh is unwell."

[Ye]

. He said that Suresh is unwell.

. He told that Suresh was unwell.

. He said that Suresh was unwell.

. He said that Suresh had been unwell.

o 0 T o

10. Deepak said to his friend," Work hard."

a. Deepak told his friend to work hard.

b. Deepak advised his friends for hard work.
c. Deepak advised his friend for working hard.
d. Deepak advised his friend to work hard.

Directions: In each of the following questions,
out of the given alternatives, choose the one
which best expresses the given word.

11. CROFTER

a. fortress b. priest

c. insane d. farmer
12. DEFUNCT

a. active b. clever

c. alive d. extinct
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13. LEWDNESS

a. recession b. indecency
c. depression d. bliss

14. ANGST

a. anxiety b. pride

c. modesty d. simplicity
15. SAGACITY

a. morality b. wisdom

C. sanity d. uprightness

Directions: Select one correct word for the
statements given below:

16. One who totally abstains from alcoholic
drinks

a. inebriate
c. teetotaler

b. pedant
d. puritan

17. The killing of a human being

b. assassination
d. suicide

a. murder
c. homicide

18. Person who eats too much.

a. fatty
c. glutton

b. polyglot
d. precocious

19. A child born after the death of his father

b. late
d. posthumous

a. orphan
C. progenitor

20. Period of ten years

a. decade
C. anniversary

b. fortnight
d. biennial

Directions: Choose the correct answer to the
given idiomatic verbal expressions given
below.

21. To hold one's tongue:

b. to be silent
d. to curb

a. to be ready
c. to speak

22. To fall flat:

b. to be fruitless
d. to collapse

a. to pass away
c. toyield

23. To be above board:

a. to have a good height

b. to be honest in any business deal
c. to have no doubts

d. none of these

24. To be at home in:

a. to feel safe

b. be well versed in
c. to feel intimacy

d. to have afine time

25. To get rid of:

a. to understand

b. to prevail over

c. to be deprived of

d. to become free from

Directions: Out of the alternatives given, select
the word which closely fits each definition.

26. A person who does not believe in the
existence of God

b. atheist
d. ascetic

a. theist
C. agnostic

27. Animals that eat flesh

b. carnivores
d. graminivorous

a. herbivores
. vegetarian

28. An animal that is equally at home on land
and in water.

b. domestic
d. aquatic

a. cannibal
c. ambhibians
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29. A tank where fish or water plants are kept.

a. nursery
€. aquarium

b. aviary
d. apiary

30. A short journey for fun

a. excursion
c. amateur

b. emigrant
d. emissary

Directions: Pick out a word from the given
words to make the given sentences
meaningfully complete.

31. One of the committee members brought
an interesting point.

b. with
d. forward

a.up
c. about

32. Does your pride prevent you
making decision you know you should?

b. alert
d. quiet

a. away
c. from

33. | had not expected to meet him, it was

quite an meeting.
a. organized b. intentional
c. undesirable d. accidental

34. | could see the sight since it was
dark.

a. clearly b. barely

c. aptly d. obviously

35. Their to scale the mountain peak

was an absolute failure.

b. desire
d. proposal

a. attempt
C. anxiety

Directions: Select the appropriate synonym
(which is nearest to the meaning) to the words
given in capital letters.

36. CHEERFUL

a. colourful b. joyful

c. beautiful d. powerful
37. BEHAVE

a. act b. speak

C. more d. manners
38. HONESTY

a. integrity b. proficiency
C. minority d. rarity

39. HOSTILE

a. friendly b. inimical

c. fallacious d. quarrelsome
40. REQUEST

a. permit b. allow

C. pray d. search

Directions: In each of the following question,
choose the alternative which can replace the
word underlined without changing the
meaning of the sentence.

41. It is not for lay leaders to evaluate a great
poet.

a. learned
c.idle

b. ordinary
d. expert

42. The novel was so interesting that | was
oblivious of my surroundings while reading it.

b. watchful
d. unaware

a. indifferent
c. aware

43. Her extraordinary stage appearance should
not be attributed to sheer fluke only.

b. effort
d. meeting

a. event
c. accident

44. The examination is going to commence on
the 10th of this month.

a. fininsh b. begin
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c. cancel d. continue

45. The invasion force had no artillery and was
completely annihilated.

b. defeated
d. split

a. reduced
c. dismembered

Read the passage given below carefully and
answer the questions that follow:

Every year, millions of people around the world
celebrate International Women's Day on March
8. This day is a reminder of the struggles and
achievements of women throughout history
and serves as a call to action for gender
equality. The origins of International Women's
Day date back to the early 20th century when
women in different countries began to organize
and protest against discrimination and
inequality. In 1908, 15,000 women marched
through New York City demanding shorter work
hours, better pay, and voting rights. The
following year, the first National Woman's Day
was observed in the United States on February
28. In 1910, an International Women's
Conference was held in Copenhagen, Denmark,
where a proposal to establish an International
Women's Day was passed. The first
International Women's Day was observed on
March 19, 1911, in Austria, Denmark, Germany,
and Switzerland. Since then, International
Women's Day has been celebrated in various
ways around the world, from marches and
rallies to cultural events and social media
campaigns. The day is an opportunity to
acknowledge the contributions of women to
society and to advocate for their rights and
empowerment.

46. What were the demands of the 15,000
women who marched through New York City
in 1908?

a. Better working conditions

b. Shorter work hours, better pay, and voting
rights

c. Equal pay and job opportunities

d. A and C both

47. In which year did the women come
together for the first time to demand for their
rights?

b. 1910
d. 1928

a. 1908
c. 1911

48. What is International Women's Day?

a. A day to celebrate men

b. A day to celebrate women's achievements
and call for gender equality

c. A day to protest against women's rights

d. None of these

49. What is the purpose of International
Women's Day?

a. To acknowledge the contributions of men to
society

b. To advocate for
empowerment

c. To protest against gender equality
d. A and B both

women's rights and

50. Where was the first International Women's
Day observed?

a. United States

b. Denmark

c. Austria, Denmark, Germany, and Switzerland
d. New York
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SECTION ‘B’ — HINDI (i&=<)

51. “HET VI8 T EEY Eft-foreae R

a. ‘4@4—%&'[ b. II%T+§ST

c. II%QH-'%ST d. q'%+§ST

52. ‘NI T FATISATE 158 8-

a. qrad b. A&

c. TR d. qeq

53. AU 3163 § T e T ST g 82
a. fogm b. aﬁT

c. frem d. gh

54, “TUTAHA’ IS § HI T GHE 7

a. IoFAIvTe b. TLET
C. ﬁﬂl d. &=
55. FTH QS AT I3 LS8 ?
a. A b. ST
c. TR d. 9o

56. 3@ H AT T & -

a. Sfie b. fow
c. /i3t d. Siet

57. <a1fa =1 farei 3ree -

a. gd b. A
c. 39 d. g

58. I T faeATe 7o B-

b. fre
d. T3wie

a. QR
c. BdlRIM

59. TR 3158 & forer el T SRIVT g 22

a.3d b. dI

c. ¥ d. ¥’d

60. TSt e = fora St wewar 8 % fg Sugee
3 3-

a. SEAST b. Ffeadtar

c. ST d. Ffe

61. “qISITAT (o3 | I AT HHE 87

a. ST e b. TS e
c. L0 AeqE d. FFIEH ey
62. G I15% T BT A BN

a. gAToft b. &1t

c. FTT d. gt

63. S ST ST He’ & ToTe 3 ves &

a. 39T b. sifafera

c. forerft d. gﬁ'ﬂ

64. € iR fore =t R YR A ek
a. SHEE T AT b. fea-fewm =1 wrer
c. T2 T A1 d. =t - ST T |

65. STHR 758 T AT & -

a. 3Yh
c. 9lehi{

66. Toreamt ol 1 Foram T &k 3 foTg Suges wrea 22

b. ARR
d.

a. 3hY b. 3R
c. iy d. TauT
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67. 5T & forer wreg & foieT e weret eryfieat 22

a. 3s9d b. TRt

c. Tt d. =i

68. afoft” 31eq 3 forer e T ST g1 27

a. i b.3

c. 3 d. goft

69. T it vft Foas € et A gre S
T, Qe ar | fe g | gera & fm

o A i Ak

a. 3¢ & =ie BT ML 7|

b. %! TH &I T RN

c. T ST 7 fHeherd =)
d. TH TS AT

70. ‘T 153 {38 ITerT 1 ST AT R

a.q b. I
c.ur d g

SECTION ‘C’ — SOCIAL SCIENCE

71. When did Simon Commission reach India?

HTEEA TN A &l g ol oA1?
a. 1926 b. 1927
c. 1928 d. 1930

72. Who was the first Viceroy of India?

WA % T8 TE0T 1T A?

a. Robert Clive/ Teié atga

b. Lord Willam Bentick/ i€ faferam sifes
c. Warren Hastings/ a1 2fm

d. Charles John Canning/ =Ied S ST

73. Hindu Succession Amendment Act was
passed in

Teig Swfereme (eieire) Srfrformr % i femm
RIRII

b. 2006
d. 2010

a. 2005
c. 2008

74. Who devised the new-system of revenue
called Mahalwari?

TETATRT THF 7§ Toiea JurTet fhem a2

a. Queen Elizabeth/ #=i7 ufetseier

b. Holt Mackenzie/ gl Hehsil

c. Queen Victoria/ = fasaifan

d. Gandhiji/ Tiefsf

75. Which article of constitution provides
Indian citizens 'Right to Equality'?

HiGE T B A1 AR WA AR S GHAT
T AR TG FAT 82

a. Article 17/ sig=se 17
b. Article 14/313@3 14
c. Article 29/ 3@%‘& 29
d. Article 42/ 3F=sg 42

76. What are the introductory lines of the
Preamble of the Constitution of India?

AR o G Y s it yrfies et w8

a. We, the Indians ___ /&9, 9T

b. We, the citizens of India _/H, 9TRd & TR
c. We, the members of the Constituent
Assembly  /&u dfeameamsaes

d. We, the people of India __ /&%, TRAF ANT

77. The contact zone between the lithosphere,
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hydrosphere and atmosphere is called

TAHE, JaWsH R agHSTE o9 Wi &7
FE TR
a. Tundra/ Zg1

b. Biosphere/ S Hgat

C. Atmosphere/drgHsa
d. Ocean/ 93N

78. In which year Vasco da Gama, the
Portuguese explorer discovered the sea route

to India?

JTEh! T 7T, Tl SFaeh 3 R o forg wogslt Ant
FrEw fraad i of

a. 1498 b. 1497

c. 1456 d. 1435

79. Who are firangis?
Tttt o &2

a. Literate/ @mr b. Spiritual/ smemferes
c. Foreigners/ fesft d. Maritime/ =gt

80. How many members are there in Lok

Sabha?

A g H e ger R

a. 540 b. 545
c. 560 d. 518

81. For what purpose are Kusum and Palash
flowers used?

FHA S T % G o IeT % forg I ferg =
&

a. Extracting oil from the seeds/ St ¥ da
faeprem & forg
b. Colouring clothes and leather/ FUS HN =TS
CORUEEATIY

c. Cooking and making food/ @M 9eh ST SIS
EEIEEATIY

d. All of them/ 78 & a+fY

82. What is the full form of TISCO ?

TISCO T I T T 87

a. Technical Iron and Steel Company/ fea
I 37T Tt shoHT

b. Tata Iron and Steel Company/ TRT S 3R
e shuHt

c. Tatanagar Iron and Steel Company/ 2RHTR
IR 37 T shuHT

d. None of these/ T8 & =S el

83. In which year was Sati banned?

et g = fore 9 Wi féra foram wrr e
a. 1816 b. 1827
c. 1836 d. 1829

84. Which continent of the world does not
have a desert?

T =1 B |1 wRTh R & Wea 82

a. Europe/ I
b. Asia/ Tf¥mT

c. Australia/ Sfregferan
d. Africa/ 3TshihT

85. Deposition of sand in a low hill like
structure is known as a:

e T TF BN TETST ST T F T R A FE
ST 82

a. Glacier/ TAf¥mR

b. Sand dunes/mﬁﬁﬁaﬁé
c. Hill/ wgret

d. Valley/ =it

86. Name the state in which Kakrapara Nuclear
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power station is situated?
TR [T TR T fobr T 3 feray 87

a. Rajasthan/ Usea™=

b. Gujarat/ TS

c. Uttar Pradesh/ 3T 9T
d. Maharashtra / A8RTS

87. In representative democracies,
participate:

wfaffRr cierdsit #§ T fohe TR & WIT A &7

people

a. Directly/dter

b. Indirectly/tlff&:rwﬁ

c. Both (a) & (b)/ 3T (a) 31 (b)
d. None of these/ 319 & =13 &t

88. Canadian shield is rich in:

HTSTS Yies fhad wHs ?7

a. Gold and Uranium/ Tiies 3 fam

b. Bauxite/ SliedTse
c. Manganese/ TSt
d. Phosphate/ ®i&he

89. Nomadic herding is practised in:
TSGR IS Hal Sl STt 8

a. Tropical region/ STshesEf &

b. Temperate region/ THIAATST &

c. Arid region/ T &

d. Subtropical region/ 3U-3WishfesiefiT &

90. Nepal became democratic in

AT H SR e ATT?
a. 2005 b. 2006
c. 2007 d. 2008

91. Industrial locations are influenced by
availability of

Nenfier T fwfor H SuersHar |
T BT Rl

a. Raw material/ sh=a1 ATcA
b. Labour/ g®

c. Transport/ gfitag

d. All of these/ 8 & @+t

92. When was Swarnajayanti Gram Swarojgar
Yojna started?

TSI T TSI AT 6l [ §57

a. 15th August 1947/ 15 3TT&d 1947
b. 26th January 1950/ 26 SHa{t 1950
c. 2nd October 1993/2 HFZsR 1993
d. 1st April 1999/ 1 31T 1999

93. Who was the first person to step foot on
the Moon?

ST X e W@ 1o T8 Sfh i 92

a. Neil Armstrong/ HieT e

b. Harrison Hagan Schmitt/ &fw= & fime
c. Charles M. Duke/ =Tc¥ TH. S

d. David R. Scott/ fars 3R, Thie

94. Where is the Lal Bahadur Shastri National
Academy of Administration located?

AT STETGT Tl TR ST STrart et foore 87

a. Shimla/ e
b. Delhi/ faeeft

c. Ooty/ =t

d. Mussoorie/ w&dt

95. Which place is known as "Manchester of
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Japan"?
e T Y "STTYT T AR el STTdT 87

a. Tokyo/ /=T

b. Kyoto/ et

c. Osaka/ 3TraTeRt

d. None of these/ 379 & =I5 &t

96. Which party got a maximum number of
seats during 2019 Lok Sabha elections?

2019 % THENT AT # TE It T ek die
Foreff2

b. INC
d. NCP

a. BJP
c. AAP

97. Who is the leader of ruling party in the lok
sabha?

AT H TATES U1 1 AT S BT 27

a. Prime minister/ Tam et

b. President/ Treufa

c. Speaker of lok sabha/ TTeRET 37e7eT
d. All of these / 379 & &t

98. Acquit means :-/ s A H1 L B

a. Imprisonment given to vicﬁm/ﬁ%ﬁaﬁw

&

b. Court declaring not guilty/ 37&Ted SR 3NH
T T

c. Both (a) & (b)/ (a) 3 (b) AT

d. None of these/ 37 & 15 &

99. Wearing a is central to a Sikh's

religious practice

TET U g & anfifes 1R 1 e
el

a. Pugri/ et

b. Suit/ ¥

c. Jacket/ Sire

d. All of these/ 378 & a+ft

100. Who designed New Delhi?
% et =t fesme forem femam?

a. Herbert Spencer and Charles Darwin/ RED
TEX 7R =1 STt

b. Herbert Baker and Edward Lutyens/ REACETS
it gead e

c. Herbert Spencer and M Viswesvaraiah/ gsi¢
T 3 . faden

d. None of these/ 1 & wis el

PART -1l

SECTION ‘D’ - MATHEMATICS

-10 _ -15 _ 17 .
101. The value OfT X —~ X ) X 0is:

-10 -15 17
TxTxExowmw%.

a.o b. 22.66
c. 20 d. 35

102. What least number must be subtracted

from 7250 to get a perfect square?

7250 ¥ T =TaW HEAT Herg ST foh g o gof
EUR)

a.22
c. 25

b. 23
d. 24

103. x*- 2x + 1 is a polynomial in:
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0 -2x + 1) THTEIE R

a. One Variable/ T =X &

b. Two Variables/ g =t &

c. Three variable/ d =T #

d. None of the these/ 319 ¥ 1 T}

104. If p(x) = x + 3, then p(x) + p(-x) is equal to
TR PE) =x +3) {, M (P() + p(-x)) TER:

a.3 b. 2x
c.0 d.6

105. A number ending in 9 will have the unit
place of its square as:

9 9T GUTH B STt EEAT & 11 T THTS 3k BN
a. 1 b.5
c.8 d.6

106. The square root of 5.3 x 5.3 is?

5.3 x 5. 3% T &
a.5.29 b.2.3
c.5.3 d. 28.09

107. Rational Number lying between 2 and 3
isf/are:

2 3k 3 & o Ra ufia e ¥/8:

a.5/2
b.11/4
c. Both A and B/ 3T A 3R B

d. Nether A nor B/ Tl A XA E B

108. In a frequency distribution, the mid value
of a class is 10 and the width of the class is 6.
The lower limit of the class is:

Tk Juft oo #, TRt St &1 Ao A 10 2 R Sof
$raiter 6 31 3@ Aoft A e w32

a.6 b.7

c.8 d. 12

109. The equation y = 5, in two variables, can
be written as:

QUSRI H IR (y = 5) 1 56 &9 8 foraT ST ueha @

a.1x+1.8=5
c.1x+0y=5

b.0x+0.y=5
d.0x+1y=5

110. Which of the following is the numerical
coefficient of x2y*?

X2y T UTATCH T[UTieh hi |1 87
a.0 b.1
c. x’ d.y?

111. The value of (x + y)(x -y) + (y - z)(y + 2) + (z
- x)(z + x) is equal to:

(x+y)x-y)+(y-z)y+2)+(z-x)(z +x) HTHAT
T E:

a.3x2 b. 3y?
c. 322 d.o
112. What is the radius of the largest circle
that can be cut out of the rectangle measuring
10 cm in length and 8 cm in breadth?

39 Ge® a1 I T Fear 4 it o 10 At g it

8 QT =STS aTeY AT U HIST ST Tkl 87
a.4cm b.5cm
c.8cm d.10cm

113. Ramesh bought an air cooler for Rs. 3300
including a tax of 10%. The price of the air
cooler before adding tax was:

TH A o T FER 10% S At 3300 209 H @lial

2 S | e TR e b ki of:
a. Rs. 2000 b. Rs. 3000
c. Rs. 2500 d. Rs. 2800

114. The Pythagorean triplets whose smallest
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number is 8 are:

T Fieh el qed S e 8 B, 9 @:
a.8, 16,17 b.8, 17,18
c.8,15,17 d.8, 15,16

115. If (7/3) % of a number is 42, then the
number is?

afe Tt e =t (7/3) %, 42 ®, 91 98 ST HTR?

a. 2005 b.8
c. 1800 d. 180

116. The area of a squre is 100 cm?3. The
circumference (in cm) of the largest circle cut:

Toreft =t =1 et 100 =t At B SHA F1e T HEE T

a. 110/7
c. 330/7

b. 220/7
d. 20

117. A labourer is paid Rs. 806 for 13 days of
work. If he receives Rs. 1.798, for how many
days did he work?

T AR W 13 Tt & el & g 806 T2 &1 A
Toram m = fe 3 1.798 T92 fire, Y SEA fore e vt
e

b.35
d. 40

a. 29
c. 60

118. The factorizationof 1+ p+q+r+ pg+qr
+ pr +pgris:

1+p+q+r+pq+qr+pr+ pgrH OGS
2

a.(l+p)(1+qg)(1+7)
b.(1-p)(1-q)(1-r)
c.(1-p)(1-q)(1+r)
d.(1+p)(1-q)(1-r)

119. What is the probability of choosing a
vowel from the alphabets?

FFE o TR G o T T 87

a.21/26
c.1/26

b.5/26
d.3/26

120. The factors of x2 - 4 are:
X2 - 4 F UGS &

a.(x-2)(x-2)
b. (x+2)(x-2)
C.(x+2)(x+2)
d.(x-4)(x-4)

121. What could be the possible one's digit of
the square root of 676?

676 F T % THI UM T GWITAT 3 1 & Tehad
L

a.4,6 b.5,7
c.1,8 d.2,9
122. 100 persons had food provision for 24

days. If 20 persons left the place, the provision
will last for?

100 =aferat & 9@ 24 Tt & fora i =1 yraee am
e 20 =afth 3 TH F S <, @ TaTH fra oAt
T TA?

a. 30 days
c. 120 days

b. 96/5 days
d. 40 days

123. The width of each of five continuous
classes in a frequency distribution is 5 and the
lower class-limit of the lowest class is 10. The
upper class-limit of the highest class is:

Forelt srmafer feraor & uiter waa Afvr i et 5 & it
e et Aoft it et ar 10 {1 w=@ S Aoft HY
I AT T R?

b. 25
d. 40

a. 15
c.35

124. The mean of five numbers is 30. If one
number is excluded, their mean becomes 28.
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What is the excluded number?

qe Tl T ofad 30 21 9y Tk we # ger faur
ST, A ST ST 28 2 ST 81 TS TS ST T 82

a. 28 b. 30
c. 38 d.32

125. A sofa-set was bought for Rs 10000. Its
value depreciated at the rate of 10% per
annum. Find its value after one year.

T A6T AT 10000 T3 F TEET T o 59T T S
T 10% =l & H I TN T oY ok S71& FHHT I Fohart

B
a. Rs 11000 b. Rs 9000
c. Rs 10000 d. Rs 1000

126. Pictorial representation of data using
symbols is known as:

Yefter foret st ST Feh 22 o e wfafAftes =
HEATAT 87

a. Bargraph/ SR UT%

b. Pictograph/ fuemms

c. Piechart/ dt$ =é

d. None of these/ 39 & %13 &t

127. On childrens’ day, sweets were to be
equally distributed among 160 children in a
school. Actually, on the children's day 40
children were absent and therefore each child
got 10 sweets extra, Total number of sweets
were?

o feam W = § 160 w=At & fiF qUA ®T @
Trargat widt st offf awaE # W fomw w40 s==
FgaRea &, fomes For &% s F 10 et

e firefhi et i e s oft:
a. 3200 b. 2400
c. 4000 d. 4800

128. The quadrilateral whose all sides are
equal and angles are equal to 90 degrees, is

called:

g gt fores it yemd w3 oft o 90 et &,
8 AT HE 82

a. Rectangle/ J1mad

b. Square/ =t

c. Kite/ g

d. ParaIIeIogram/W‘iﬁT%@jﬁ

129. Which among the following statements is
not true?

FrefeRaa # & s a1 o e 181 82

a. The centroid of a triangle divides each
median in the ratio 2:1. / B[S %1 F5F T&F
T B 2:1 3 ST & FeTRe e 3

b. The perpendicular bisectors of the sides of a
triangle are Concurrent. / FI¥st % ysmatl & o/
FfgwTSe U foig o firerd &

c. In a right angled triangle, the circumcenter is
the mid-point of the hypotenuse. / T THHIT
Forer 3, afthz %ot a1 wer foig B 2

d. The angle bisectors of a triangle are not
concurrent. / Bt o ahivr gafgwTse T foig o 7
et

130. The price printed on a fan is Rs.2000/- and
the shopkeeper allows a discount of 8% on it.
What will be the selling price of a fan.

W T Afs i 2000 TR B 3R GHAK T W 8%

1 2 20T 3 T 1 e e e
a. Rs 1260 b. Rs 1840
c. Rs 1730 d. Rs 2160

131. A circle of maximum possible size is cut
from a square sheet of board. Subsequently, a
square of maximum possible size is cut from
the resultant circle. What will be the area of
the final square?

T RIS sl 916t § ATehad GWa TRl Th
A FHET TN TF A1G, RO I § ARFaT @
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SRR T Teh 1 shIeT T ifow it <1 Sher ==
T

a. 3/4 of original square. /ugfaﬁao‘r 3/4
b. 1/2 of original square. /ugfaﬁao‘r 1/2
c. 1/4 of original square. / q&1 a1 #11/4
d. 2/3 of original square. /ugfaﬁao‘r 2/3

132. The range of the data 30, 61, 55, 56, 60,
20, 26, 46, 28, 56 is:

2T 30, 61, 55, 56, 60, 20, 26, 46, 28, 56 T AT
TR?

a. 26
c. 41

b. 30
d.61

133. A batch of mangoes was packed in 25
boxes with 20 mangoes per box. If the same
batch is packed using 25 mangoes per box,
how many boxes would be filled?

T 3 T GHE i 25 st 7 3 Torarm T, el ey
20 3 N afe 3eft wogE Al 25 AW N A * e

q Yep T3 ST, Y fora siie SR ST@?
a. 10 b. 30
c. 40 d. 20

134. In a cylinder, if radius is halved and height
is doubled, the volume will be?

W o 1, Ife Brear emeft & se ik SEE

AT AR T S, <t S g
a.sam b. doubled
c. halved d. four times

135. What will be the" one's digit" in the
square of 1234?

1234 S 1§ " Seh1s CAM" T Heh T EIT?
a.6 b. 2
c.8 d.9

136. The height of a cylinder whose radius is 7

c¢m and the total surface area is 968 cm? is:

39 ST ot FaTg Rt 8, Forasht foream 7 Sft i e
AT A% 968 T AHT B?

b.17 cm
d.21cm

a.15cm
c.19cm

137. The angles of a quadrilateral are in the
ratio 6:7:8: 9, then which of the following can
be concluded?

TF 90T S AT 6789 F A A, AP AR
i forsere T < weRaT 82

a. Exactly two angles are obtuse/ 3t & &I
obtuse &

b. Two pairs of angles are supplementary/ o
o 1 SIS TTh &

c. Both A & B/ 3T A 3t B

d. None of these/ 394 & IS =2l

138. The smallest number by which 2560 must
be multiplied so that the product will be a
perfect cube.

T Tl S T 7 2 fw@ 2560 F T F+HEAT

<R T ST U T U S 8
a.35 b. 25
c.8 d.5

139. The shifting of a number from one side of
an equation to other is called?

T QRN % T I @ g T H WA Y AR
A Y T HET ST 27

a. Transposition/ ZEANTSIE
b. Commutativity/ T
b. Distributivity/ ferawor

d. Associativity/ @Te=Ear

140. To draw the graph of a line, least number
of points required?
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et Y@ #r we e % g =man e foig
HTATTH T 87

b. two/ a1
d. four/ I

a.one/ W%
c. three/ =

141. What is the sum of all angles of a
hexagon?

TS & W IV T ANTES T 82
a. 180° b. 360°
c. 540° d. 720°

142. Which of the following numbers is not a
perfect cube?

Frefofa 3 & 1 ot we o ol a2
a. 333 b. 1728
c. 1331 d. 729

143. Every counting number has an infinite
number of?

Tk A aTelt ST 7 3 G&IT H F T e 82

a. Factors/ T[T

b. Multiple/ orEE

c. Prime factors/ 314Ts3 TUTish
d. None of these/ 3T & #13 =&l

144. How many digits will be there in the cube
root of 46456?

46456 % T | foha 37 B2
a.2 b.1
c.3 d. 4

145. Let abc be a three-digit number. Then abc
+ bca + cab is not divisible by?

U ST abe Tk i 3ot &l E&4T ) ' abe + bea +
cab fre@ s i @

a.a+b+c b.3

c. 37 d.9

146. The number of parts the coordinates axes
divide the plane is?

Twrien &t gRr 9@ *r fras wet & s e
T 22

a. Two parts/ &l 9T

b. Four parts/ I 91T
c. Six parts/ 8 9FT

d. Eight parts/ 3118 v

147. Which of the following can't be a perfect
square:

FCEE N U EL R RARE T

a. 841
b.529
c. 198

d. All of the above/ 3T Gt

148. Latika bought a teapot for Rs 120 and a
set of cups for Rs 400. She sold teapot at a
profit of 5% and cups at a loss of 5%. The
amount received by her is?

WAfdeRT 3 Tk TR 120 T93 # R F4T 1 A2 400 T
¥ @liEn 3 T=SH B 5% AT T T H9T & 5%

T aT S 38 e T feRert 82
a. Rs 494 b. Rs 546
c. Rs.506 d. Rs 534

149. The ratio of 10m to 10 km is:

10 X & 10 Foreivefiet &1 STama FTR?
a. 1/10 b. 1/100
c. 1/1000 d. 1000

150. The multiplicative identity of rational
numbers is:

i HEATt U Sfferg 8
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a.0 b.1

SECTION ‘E’ — SCIENCE

151. In the male human, sperm contains 22
pairs of autosomes and?

o AHE & Y] 22 S S A § 3l

a. A pair X-chromosome/ Te ST X-shIaTam

b. One Y-chromosome/ T Y-shiHTETH

c. A pair of Y-chromosome/ T SIS Y -ShIHTEH
d. Three X-chromosome/ = X-shiHra™

152. The epicentre of an earthquake is?
VT T I BT &

a. In the core of earth/ 7eaft & wR #

b. On the surface of earth/ et sl &g W
c. In the middle of earth/ qeaft & wea &

d. None of these/ T4 & IS &

153. The stars forming a recognizable shape is
called?

ARY T T TG AT STHR FETaT &

a. Constellation/ 7819
b. System/ =

c. Galaxy/ SATRRET
d. Asteroids/ &€

154. Lowest temperature at which a substance
catches fire is known as?

TT FH B A S /A gered T geher €,
AT &

a. Lowest temperature/ =IIqH qTaHT
b. Burning temperature/x‘rlﬂﬁ‘eh‘ramﬂ
c. Ignition temperature/ Isdeld dUHE
d. Flaming temperature/ g& a9

155. Magnesium burns to form?

AR ST ST R

a. Calcium Carbonate/ hfe3r—m H1ei-e
b. Magnesium Oxide/ B3y iaarss

c. Calcium Oxide/ Sfcsrm 3irTEe
d. Magnesium Sulphate/ &=if3rw @<

156. When a copper vessel is exposed to moist
air for long, it acquires a dull green coating.
The green material is a mixture of?

e i o Fd Sl e GHT doh A9 gaT & €9k § @1
AT 8, A 39 W T 1 it W 99 et 8] T8 7@ e
o oS e

a. Copper oxide and Copper Nitrate/ @4
SATFETSE ST I AL T

b. Copper hydroxide & Copper Carbonate/ %
TTESHTEE ST HT HTSTE T

c. Copper carbonate and Copper sulphate/ &4
FHTEIME 3T R TAhe T

d. Copper hydroxide and Copper Nitrate/ =4t
TS TS 3 I AT T

157. The nature of image formed by plane
mirror is?

T FUOT FI TS 718 BFr oY Sepfa Belt 2

a. Real and inverted/ ar&dfees 3T 3t
b. Virtual and erect/ et 371 dfieft

c. Real and erect/ ar&afere 7T wieft

d. Virtual and inverted /3Tt 37T 3t

158. Bacilli are the bacteria that are?

Sfeft AR N B

a Rod-shaped/ {s-3ATR &
b. Comma-shaped/ HHT-3ATHR &
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c. Curved-shaped/ FATERT THR
d. Spiral/ afie

159. Metal oxides are?
o ATFARS T 8

a. Neutral/ e

b. Basic/ &=

c. Acidic/ 3T

d. All of these/ 37 & Tft

160. Cell wall is found in?
iRt frfer o s @

a. Plant cells only/ et 4Teq shif3TehTeti &
b. Animal cells only/ e Si=] hITTeRIAT H
c. Both (a) and (b)/ (a) 3R (b) SHT &

d. None of them/ 37 & foreft & 7t

161. Amit observed various types of cells. He
reported largest vacuoles in a:

Aftra 3 faft=r yepr it ARTERRN w1 Saes fm
I gl @ ffehent IE:

a. Animal cell/ﬁﬂaﬁﬁaﬂﬁ

b. Virus/ arrg o

c. Plant cell/ uTeq shif3TehT &

d. Prokaryotic cell/ Sishfifea shifsrent o

162. Weeds are controlled by chemicals called

TAER i e w0 & fore et =@ e
2

a. Pesticides/ e

b. Fungicides/ ®1aTES

c. Weedicides/ diEEse
d. Insecticides/ I

163. The non-metal which is liquid at room
temperature is:

FE STETY S F b AT TR T ST & el 2

a. Carbon/ &

b. lodine/ 3ETEH
c. Bromine/ sidfia
d. Chlorine/ #0

164. In which process of plant carbon dioxide is
converted into oxygen?

et ¥ fF aferen o weq SeiEEe SAiediee §
qiafde grar 87

a. Photosynthesis/ JerT3T E5390T
b. Transportation/ aftag

c. Transpiration/ aTsaicasiT
d. Respiration/ 8=

165. The Pachmarhi Biosphere Reserve in
Madhya Pradesh consists one national park
named:

e JouT ¥ Tawer SRCARR e # 0 TS SaH
e & foepr T 2:

a. Bori/ it

b. Satpura/ @aqst
c. Anand/ 3THg
d. Dudhwa/ g8t

166. In the sun, light and heat are produced
by?

T raTeT 3R ST T AT BT

a. Chemical reactions/ TEmafeh fafsramsti @
b. Nuclear reactions/ atTy] Sfafsramati &

c. Burning reactions/ g& ffsrarsti &

d. Bunsen burner/ =89 st d

167. Rhizobium (a Bacteria) which fixes
atmospheric nitrogen are found in nodules
growing in?

TESfer (T AFARE) St A rggeH @i fer
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AT ], LT &

a. Roots of leguminous plants/ w1 & det <t
et

b. Leaves of leguminous plants/ ®fetat o diert shi
uferat o

c. Stem of Leguminous plants/ %fctat o Wer & o=t
T

d. All of the above/ STis @it

168. Internal fertilization takes place?
HAiafek =T aar e

a. Inside male body/ T & IR & 3T

b. Inside female body/ ATeT & IR & et
c. Outside female body/ HTeT & IXR & &L
d. Outside male body/ 7 % IXR & =&t

169. Friction can be reduced by:

T Y HH foRaT ST ST B

a. Using lubricants/ Tk s U ek

b. Polishing/ difetst stk

c. Using fine powder/ sT{ieh UT3eX T SUNT hleh
d. All of these/ T aft &

170. Organic wastes can be decomposed to
form , which can sustainably enhance
the nutrient content of the soil.

Ifew FR ] T ¥ fore fufea fer s
HhaT 8, ST T & qiwes aeat o e & @ @1
Hehat 8l

a. Compost/ I @1
b. Cow dung/ TisX

c. Fertilizer/ 39t

d. Pesticide/ SieTereh

171. A student wants to make a model. She
needs a hard material that can be bent and can
be made into a thin sheet. Which material
should she pick?

Tk ST T Hied SAT SEdt 81 3§ T i e
SR STt 7 Toh ST TR wereft =met & S ST 6l 38
o el o1 < ST SR

a. Chalk/ 91

b. Aluminum/ Tegfifam
c. Paper/ TSt
d. Rubber/ T

172. Which instrument is used to measure
earthquake?

T T AT % Forg forer <ot o ST ke St 22

a. Richtograph/ s

b. Seismograph/ fa=mums

c. Polygraph/ 9T

d. None of these/ 79 & @IS 7€t

173. Mouldable plastic like Polythene is an
example of-

AT TREH S YTl T ST 2

a. Biodegradable substance/ Sia use ueref
b. Thermosetting plastics/ emtafiT wifiees

c. Thermoplastics/ et

d. Rayon/ @™

174. Egg are formed in the?
ey ot fomior T &

a. Testes/ 3ighIN I

b. Penis/ fefm &

c. Ovary/ e &

d. None of these/ 9 & @IS 7€t

175. Which chemical is used in the rubbing
surface provided for matchsticks?

ik ft ficlt H vreT Tt Tag F fFw W &
AT AT ST 87

a. Sulphur/ ge®H
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b. Gold/ @
c. Red phosphorus/ ATt BIERE
d. White phosphorus/ e BEhIE

176. PCRA stands for:
PCRA #T W &

a. Public Conservation Research Association/
Yfocteh sheRa¥T e Talfiee=

b. Petroleum Conservation Research
Association / Ui shefa o THifiue

c. Public Council of Research Association/ dfseieh
Frsftret 3T o Taifeee

d. Partial Counting of remaining Amendment/

Y EINYH hY 3T7TIreh TOMT

177. Which of the following gases is needed by
plants for photosynthesis?

Trrferiaa 7 & de <t werrer w@siaor % fore e g by
SATATIHAT Bt B2

a. Oxygen/ ATt

b. Nitrogen/ TE2ISH

c. Carbon Dioxide/ TslT ST3ATeTES
d. Sulphur/ @e®H

178. Neptune has very low temperature due
to:

ORI T A S5 FH & Riifh

a. Glacier on its surface/ 30! wde W femde &

b. Presence of oxygen/ SAtaiS i Iuferfd &
hIOT

c. Far distance from sun/@ﬁﬂgﬁ?ﬁ‘eﬁ%w
d. Huge amount of ice/ W&t AT | % B 3 SHIOT

179. By-product obtained after processing coal

is useful in manufacturing plastics. synthetic
dyes, naphthalene balls etc. The by product is

PRI F TEERT & 918 W Th T-3ATE Y TR,

w4, Yourefe e anf s Ffor 3 it e 2, @
2

a. Coal gas/ &FaT 1@

b. Coal tar/ &idT 2R

c. Coke/ &%

d. Paraffin wax/ ST Saa

180. Noise pollution causes:

& ST HT HRVT 7T

a. Lack of sleep/ i st st
b. Hypertension/ 3= Themd
c. Anxiety/ far

d. All of these/ Tk T+t

181. Rocket works on the principle of
conservation of:

e 1 ST 8

a. Conservation of mass/ S| &I o fogid 1
b. Conservation of energy/ &SIl GR&I0T & forgia ©
c. Conservation of momentum/ HaT TE %
frEia ™

d. Conservation of velocity/ 3T & fégid ™

182. In sitar sound is produced by:

R # eafr ST a2

a. Streching Strings/ AR @i &
b. Rubbing/ Tre &

c. Blowing/‘i&_olﬁﬁ

d. Beating/lﬁﬁﬁ

183. The substances which have very low
ignition temperature and can easily catch fire
with a flame are called:

J aret T SSae AT S5 gr 8 3 S
T & ITFT IS Hehd 8, FEA &:

a. Inflammable substances/ Sae3fier Terd
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b. Flaming substance/ Sia=eiier gere
c. Fireproof substance/ 31frerss ueref
d. None of the above/ 3uRk ¥ & g el

184. The sex of child depends on the:

ECC N GURE TG

a. Blood group of mother/ #f % Tt &9 T
b. Sperm of father/ firaT & 31 T

c. Blood group of father;/ T & T &Hg T
d. Ovum of mother/ At & ST

185. Pitch of sound is determined by its:

et it i iR et e:

a. Frequency/ 3Tafa &
b. Speed/Tfa &

c. Amplitude/ JEm &
d. Loudness/ dterar &

186. Which of these is a well-known migratory
species?

T U R T g AT Seifer 87

a. Golden finches/ Tee fh=r
b. Albatross/ 3Tcsgi®

c. Dodo/ St

d. Archaeopteryx/ 3 iEd

187. The other name of cell membrane is:

EQINE N ERS LI EGUE LR

a. Plasma membrane/ TsHT fereet!
b. Cell wall/ sf3renr farfr

c. Nuclear membrane/ 7RI fereett
d. None of these/ 378 & 1S 7

188. The chemical substances rich in nutrients
are called:

e qedlt & ST Tar ek vare Fhedd §

a. Fertilisers/ 3dth

b. Weedicides/ Si<iamss
c. Pesticides/ e

d. Herbicides/ gsffarss

189. We are able to see an object due to the
presence of:

o foreft o ot Qe weRa €, i st Al R

a. Light/ Tt

b Dark/ 3i&RT

c. Refraction/ uard=
d. Object/ a%q

190. First menstrual flow is called

e R o YA T ST 2

a. Menopause/ Wfaf

b. Menarche/ S&aetT

c. Menstruation/ ATfées e
d. Ministration/ S3m&=

191. The combustion reaction which occurs on
its own, without any external supply of heat is
called as:

IE T8 ATGHAT ST 7Y 3T Bt B, foT ot amedt
FeAT Y ATYR o6, FEAT 2

a. Explosion/ faepie

b. Spontaneous combust'ion/l-?l@jcfag:r
c. Fire/ AT

d. Rapid combustion/ s &

192. Which of the following is a bad conductor
of electricity?

Fraferfeaa & & i forega o e 22

a. Distilled water/ 3T{d St
b. Silver nitrate/ feat A13¢e
c. Sulphuric acid/ ¥R T
d. Copper sulphate/ 9 Gt
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193. Which of the following metal is stored in
kerosene?

Fraferfea & & fora ag =t firdh & qer & W@ ST 82

a. Sodium/ ifeTm

b. Magnesium/ &=f3rm
c. Phosphorus/ S®RH
d. Zinc/ =

194. When sufficient oxygen is not available,
combustion of methane produces gas and
water.

I 91 Ao Sucrey TEl Bt &, T S e @
g A ar aTa &

a. Nitrogen/ ATSZI

b. Hydrogen/ ETsgiS

c. Carbon monoxide/ e AHTHTHTES
d. Carbon dioxide/ e SgTadEE

195. Which of the following is made up of
cellulose?

i i & R ftor dregeiver & e 37

a. Cell membrane/ shif3ren fareett
b. Golgi body/ Tiiestt =T
c. Chloroplast/ &ia @&
d. Cell wall/ sif3rer fafa

196. The places where animals receive
protection is called:
TE T 81 SIal oAt g et 8, e 2:

a. Zoo/ fafsamr
b. National parks/ Tt 3=
c. Rock shelters/ it 3112

d. None of these/ 3T & &g &l
197. The method of loosening the soil is called:

Tt =t et A Y afehar e @

a. Harvesting/ w8 &cTg
b. Ploughing/ & =TT
c. Leveling/ et ientor
d. Threshing/ TeT$

198. Cloning is a mode of?

TN TR TR R R

a. Sexual production/ s Tsi

b. Asexual production/ 3Tifies ISt
c. Both land Il/ EHT I 3R 1T

d. None of these/ ¥ @ =is 7€t

199. Light passing through a prism splits into
seven colours. This is called?

Brem & IR W s | it i v @ S @
FEAE?

a. Dispersion/ faad=

b. Dissolution/ fareta=

c. Division/ forveiT

d. None of the above/ 3k ¥ & IS Tal

200. Thermoplastics can be:

a. Never remoulded/ st 9: @TefT T ST Hehar
b. Destroyed by heating/ TH & W T8 & ST &
c. Non melting/ 7 foere o

d. Non-recyclable/ q: TR0 AT
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